
50 Questions

Que. 1 Find the value of x in the following question.

25% of 242 + 37.5% of 82 + (121/11 × √ 144) + x2 = (22 × 25) – 172 + 15% of 800

Correct Option - 3
Solution:

25% of 242 + 37.5% of 82 + (121/11 ×  √ 144) + x2 = 22 ×  25 – 172 + 15% of 800

(1/4 ×  576) + (3/8 ×  64) + (11 ×  12) + x2 = (550 – 289 + 120)

144 + 24 + 132 + x2 = 381

x2 = 81
x = 9

71.
122.
93.
114.
85.

Que. 2 Find the value of x in the following question.

20% of 800 + 35% of 600 + 172 + 122 + x = (80 × 210 × 1/3) + (480/ 24)

Correct Option - 4
Solution:

20% of 800 + 35% of 600 + 172 + 122 + x = (80 ×  210 × 1/3) + 480/ 24
(20/100 ×  800) + (35/100 ×  600) + 289 + 144 + x = (80 ×  70) + 20
160 + 210 + 289 + 144 + x = 5620
x = 4817

47171.
48872.
47673.
48174.
68875.

Que. 3 Find the value of x in the following question.

40% of 800 + 37.5% of 320 + (12 × 15) - x = 53 + 20% of 650

4251.
4152.



Correct Option - 5
Solution:
40% of 800 + 37.5% of 320 + (12 × 15) - x = 5  + 20% of 650
(40/100 ×  800) + (37.5/100 ×  320) + 180 - x = 125 + (20/100 ×  650)
320 + (3/8 ×  320) + 180 - x = 125 + 130
320 + (3 × 40) + 180 - x = 125 + 130
320 + 120 + 180 - x = 255
620 - x = 255
x = 365

3953.
3854.
3655.

3

Que. 4 Find the value of x in the following question.

75% of 400 + 33.33% of 600 - x2 = 122 + (35/7) ×  2 + 152

Correct Option - 4
Solution:

75% of 400 + 33.33% of 600 - x2 = 122 + (35/7 ×  2) + 152 

⇒ 3/4 × 400 + 1/3 × 600 - x2 = 144 + 70/2 + 225

⇒ 300 + 200 - x2 = 144 + 10 + 225

⇒ 500 - x2 = 379

⇒ 500 - 379 = x2

⇒ 121 = x2

⇒ x2 = 121
⇒ x = 11
∴ The correct answer is option (4).

141.
92.
123.
114.
135.

Que. 5 Find the value of x in the following question.

✓1296 + √256 + 30% of x = 20% of 175 +√196 + √144

201.
452.
303.
254.



Correct Option - 3
Solution:

✓1296 + √256 + 30% of x = 20% of 175 +√196 + √144
36 + 16 + 30/100 ×  x = 20/100 ×  175 + 14 + 12
36 + 16 + 0.3x = 35 + 26
0.3x = 61 - 52
0.3x = 9
x = 30

405.

Que. 6 Two numbers are in the ratio 4 : 5. If 10 is added to the numerator and 2 is subtracted from the
denominator, the ratio becomes 5 : 6. What is the sum of both numbers?

Correct Option - 3
Given:
Ratio of the two numbers = 4 : 5
After adding 10 to the numerator and subtracting 2 from the denominator, the new ratio = 5 : 6
Formula used:
If two numbers are in the ratio a : b, then the numbers can be represented as 4x and 5x.
Calculation:
Let the numbers be 4x and 5x.
New ratio after modification:

⇒ 6(4x + 10) = 5(5x - 2)
⇒ 24x + 60 = 25x - 10
⇒ 25x - 24x = 60 + 10
⇒ x = 70
Numbers are 4x = 4 × 70 = 280 and 5x = 5 × 70 = 350
Sum of both numbers = 280 + 350
⇒ Sum = 630
∴ The sum of both numbers is 630.

5301.
4302.
6303.
7304.
8305.

=4x+10
5x−2

5
6

Que. 7 If (–3)m+1 × (–3)5 = (–3)7, then the value of m is :

51.
72.



Correct Option - 3
Given:

(-3)m+1 × (-3)5 = (-3)7

Formula used:

am × an = am+n

Calculation:

(-3)m+1+5 = (-3)7

⇒ (-3)m+6 = (-3)7

Since the bases are the same, we can equate the exponents:
m + 6 = 7
⇒ m = 7 - 6
⇒ m = 1
∴ The value of m is 1.

13.
More than one of the above4.
None of the above5.

Que. 8 Which of the following is true ?

Correct Option - 2
Calculation:
31/36 = 0.86
17/18 = 0.94
59/60 = 0.98
43/45 = 0.955
So,
0.86 < 0.94 < 0.955 < 0.98
i.e. 

∴ The correct answer is option (2).

1. < < <31
36

17
18

59
60

43
45

2. < < <31
36

17
18

43
45

59
60

3. < < <17
18

31
36

43
45

59
60

More than one of the above4.
None of the above5.

< < <31
36

17
18

43
45

59
60

Que. 9 If , then the value of (0.25)x is= 0.008( )1
5

3x

1.01.
4.02.
0.253.



Correct Option - 3
Explanation:

Given 

We need to find the value of  .
We know that

So, we can rewrite the equation as

Since the bases are the same, we can equate the exponents:

3x = 3 ⇒ x = 1

Hence option 3 is correct.

More than one of the above4.
None of the above5.

= 0.008( )1
5

3x

(0.25)x

0.008 = =1
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( )1
5

3

=( )1
5

3x

( )1
5

3

(0.25 = (0.25 = 0.25)x )1

Que. 10 The value of  is

Correct Option - 3
Explanation:
We know that 

Using the property  , we get:

Since 32 = 25 , we can rewrite this as:

Hence option 3 is correct.

(0.03125)− 2

5

61.
92.
43.
More than one of the above4.
None of the above5.

0.03125 = 1
32

( )1
32

−
2

5

=a
−b 1

ab

=( )1
32

−
2

5 32
2

5

= ( = = = 432
2

5 25)
2

5 25×
2

5 22

Que. 11
The value of  is

2{(467+359 −2×467×359})2

(467 +(359)2 )2



Correct Option - 1
Concept Used:
We will use algebraic identities to simplify the given expression.
Formula Used"

Calculation:

The expression is 

Let  and .
Numerator: 
⇒ 
⇒ 
⇒ 
Denominator: 

⇒ 
Now, the expression becomes:

⇒ 

⇒ 

Hence, the value of the given expression is 2.

21.
32.
13.
More than one of the above 4.
None of the above5.

(a + b = + 2ab +)2
a

2
b

2
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(467 +(359)2 )2
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2

b
2
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2
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2
b

2
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2

Que. 12 It is given that , what is the value of 
 ?

Correct Option - 3
Calculation:
Given, √(4489) = 67
⇒ √(4489) = 67
Now, let's find the square roots of the given decimal numbers:
⇒ √(44.89) = √(4489/100) = 67/10 = 6.7
⇒ √(0.4489) = √(4489/10000) = 67/100 = 0.67
⇒ √(0.004489) = √(4489/1000000) = 67/1000 = 0.067

= 674489
− −−−

√
+ + +44.89

− −−−
√ 0.4489

− −−−−
√ 0.004489

− −−−−−−
√ 0.00004489

− −−−−−−−−
√

74.437 1.
744.37 2.
7.4437 3.
More than one of the above 4.
None of the above5.



⇒ √(0.00004489) = √(4489/100000000) = 67/10000 = 0.0067
Adding all these values together:
⇒ 6.7 + 0.67 + 0.067 + 0.0067
⇒ 6.7 + 0.67 = 7.37
⇒ 7.37 + 0.067 = 7.437
⇒ 7.437 + 0.0067 = 7.4437
∴ The value of √(44.89) + √(0.4489) + √(0.004489) + √(0.00004489) is 7.4437.

Que. 13 If (m)n = 32 where m and n are positive integers, then the value of (n)mn is

Correct Option - 2
Given:

(m)n = 32 where m and n are positive integers.
Formula Used:

The value of (n)mn.
Calculation:

Possible pairs of (m, n) such that mn = 32 are:

⇒ 32 = 25

So, m = 2 and n = 5

Now, we need to find (n)mn

⇒ (5)2 × 5

⇒ 510

The value of (n)mn is  5

251.

5102.

5253.

324.
None of the above5.

10

Que. 14 The value of   

Correct Option - 1
Calculation:
We have,
⇒ (18)/(5+√7)

+ + +18

(5+ )7√

4

( + )7√ 3√

1

( + )3√ 2√

1

( +1)2√

41.
32.
53.
More than one of the above4.
None of the above5.



Multiply numerator and denominator by (5-√7)
⇒ (18(5-√7))/((5+√7)(5-√7))
⇒ (90-18√7)/(25-7)
⇒ (90-18√7)/18
⇒ 5 - √7
Similarly, 
(4)/(√7+√3) = √7 - √3
(1)/(√3+√2) = √3 - √2
(1)/(√2+1) = √2 - 1
Adding all the simplified terms:
⇒ (5 - √7) + (√7 - √3) + (√3 - √2) + (√2 - 1)
Notice all the irrational parts cancel out:
⇒ 5 - 1 = 4
∴ The correct answer is option 1.

Que. 15 What approximate value will come in place of question mark (?) in the given questions? (You are not 

expected to calculate the exact value).

[√(1764.28) ÷ 14.019] x 18.032 = ? – 516.997

Correct Option - 3
Solution:

[√(1764.28) ÷ 14.019] x 18.032 = ? – 516.997

[√(1764.09) ÷ 14] x 18 = ? - 517

(42/14) x 18 = ? - 517

? = 571

5981.
5312.
5713.
4814.
5785.

Que. 16 What approximate value will come in place of question mark (?) in the given questions? (You are not 

expected to calculate the exact value).

(60867.89 - 7986.90 - 3284.8 - 12828.90) x √100 = ?

3827801.
3746802.
3676703.
3776704.
3879805.



Correct Option - 3
Given:
(60867.89 - 7986.90 - 3284.8 - 12828.90) × √100 = ?
Approximation:
60867.89 ≈ 60868
7986.90 ≈ 7987
3284.8 ≈ 3285
12828.90 ≈ 12829
√100 = 10
Calculation:
60868 - 7987 - 3285 - 12829 = ? / 10
Step-by-step subtraction:
60868 - 7987 ≈ 52881
52881 - 3285 ≈ 49596
49596 - 12829 ≈ 36767
Multiply by 10:
36767 × 10 = 367670
Therefore, the approximate value that will come in place of the question mark is 367670.

Que. 17 What approximate value will come in place of question mark (?) in the given questions? (You are not 

expected to calculate the exact value).

√(1088.89)/10.89 ×  40.09 = ? - 399.89

Correct Option - 1
Solution:

√(1088.89)/10.89 ×  40.09 = ? - 399.89

33/11 ×  40 = ? - 400

3 ×  40 = ? - 400

? = (400 + 120) 

? = 520

5201.
5802.
5403.
5604.
5905.

Que. 18 What approximate value will come in place of question mark (?) in the given questions? (You are not 

expected to calculate the exact value).

? % of 599.80 + 60.07% of 349.78 = 449.89% of 79.98



Correct Option - 5
Solution:

? % of 599.80 + 60.07% of 349.78 = 449.89% of 79.98

?% of 600 + 60% of 350 = 450% of 80

?% of 600 + 60% of 350 = 450% of 80

?% of 600 + 210 = 360

?/100 ×  600 = 150

6 ×  ? = 150

? = 25

301.
352.
203.
404.
255.

Que. 19 What approximate value will come in place of question mark (?) in the given questions? (You are not 
expected to calculate the exact value)

√(? + 54.68) x 3.04 = 19.78% of 149.68

Correct Option - 4
Solution:

√(? + 54.68) x 3.04 = 19.78% of 149.68

√(? + 55) x 3 = 20% of 150

√(? + 55) = 30/3

√(? + 55) = 10 

(? + 55)  = 100

(? + 55) = 100

? = 45

501.
602.
553.
454.
405.

Que. 20 Find the value of x.
2⁴/4⁴ ×  16 ×  2x ÷ 2² ×  64 = 4⁴

41.



Correct Option - 4
Solution:
2⁴/4⁴ ×  16 ×  2x ÷ 2² ×  64 = 4⁴
2⁴/2⁸ ×  16 ×  2x/2² ×  64 = 16 × 16
1/2⁴ ×  16 ×  2x/4 ×  64 = 16 × 16
x/2 ×  64 = 16 × 16
32x = 16 × 16
x = 8

92.
63.
84.
75.

Que. 21 Find the value of x.

40% of 730 ×  2.5 = x2 + 1

Correct Option - 4
Solution:

40% of 730 ×  2.5 = x2 + 1

(40/100) ×  730 ×  2.5 = x2 + 1

730 = x2 + 1

x2 = 729
x = 27

211.
222.
233.
274.
295.

Que. 22 Find the value of x.

x2 = 72.8 ×  5 − 852 ÷ 4 + √2025

Correct Option - 3
Solution:

x2 = 72.8 ×  5 − 852 ÷ 4 + √2025

121.
132.
143.
164.
155.



x2 = 364 − 213 + 45

x2 = 196
x = 14

Que. 23 Find the value of x.
30% of 5600 + 85% of 3600 – 463 – 26 ×  76 = x + 301

Correct Option - 3
Solution:
30% of 5600 + 85% of 3600 – 463 – 26 ×  76 = x + 301
1680 + 3060 - 463 – 1976 = x + 301
1680 + 3060 - 463 – 1976 – 301 = x
4740 - 2740 = x
x = 2000

18001.
21002.
20003.
24004.
22005.

Que. 24 Find the value of x.
√(7225) + 45 ×  4 ÷ 6 = x% of 500

Correct Option - 4
Solution:
√(7225) + 45 ×  4 ÷ 6 = x% of 500
85 + 30 = (x/100) ×  500
115 = 5x
x = 23

261.
212.
243.
234.
225.

Que. 25 Find the value of x.

589 + 1561 +2989 + 3683 – 1143 = x3 + 41 ×  160 ×  12.5%

151.
162.
193.



Correct Option - 3
Solution:

589 + 1561 + 2989 + 3683 – 1143 = x3 + 41 ×  160 × 12.5%

8822 – 1143 = x3 + 41 ×  160 ×  12.5%

7679 = x3 + 820

x3 = 6859

x = 19

184.
175.

Que. 26 Find the value of x.

280% of 190 + 119% of 600 – 135% of 580 = x2 - 21

Correct Option - 3
Solution:

280% of 190 + 119% of 600 – 135% of 580 = x2 - 21

532 + 714 – 783 = x2 - 21

463 = x2 - 21

x2 = 484
x = 22

251.
202.
223.
244.
265.

Que. 27 Find the value of x.
64% of 25 + 33.33% of 120 = 70% of x

Correct Option - 3
Solution:
64% of 25 + 33.33% of 120 = 70% of x
64 ×  25 / 100 + 1/3 ×  120 = 70 ×  x / 100
16 + 40 = 7x / 10
x = 56 ×  10/ 7

601.
652.
803.
754.
505.



x = 80

Que. 28 Find the value of x.
x + 276 - 150 = 137 + 264 - 331 + 211

Correct Option - 4
Solution:
x + 276 - 150 = 137 + 264 - 331 + 211
x = 137 + 264 - 331 + 211 - 276 + 150
x = 762 - 607
x = 155

1851.
1252.
1453.
1554.
1755.

Que. 29 Find the value of x.
125 ÷ 5 ×  171 ÷ 27 ÷ 249 ×  9 = x ÷ 83

Correct Option - 3
Solution:
125 ÷ 5 ×  171 ÷ 27 ÷ 249 ×  9 = x ÷ 83
25 ×  (171/27) ×  (1/249) ×  9 = x/83
25 ×  (19/3) ×  (3/83) = x/83
x = 25 ×  19
x = 475

5251.
4252.
4753.
3254.
4005.

Que. 30 Find the value of x.
42 ÷ 6 ×  3 + 5 – (8 + 7) + 123 = x

1281.
1342.
1263.
1224.
1185.



Correct Option - 2
Solution:
42 ÷ 6 ×  3 + 5 – (8 + 7) + 123 = x
7 ×  3 + 5 – (15) + 123 = x
21 + 5 – 15 + 123 = x
x = 134

Que. 31 Find the approximate value of x in the following question given below
119.98% of 199.97 = x + 39.98% of 389.98

Correct Option - 3
Solution:
119.98% of 199.97 = x + 39.98% of 389.98
120% of 200 = x + 40% of 390
240 = x + 156
x = 240 - 156
x = 84

521.
642.
843.
724.
605.

Que. 32 Find the approximate value of x in the following question given below
√x = √361.05 - 299.92 ÷ 14.98 + 162.01 ÷ 17.97

Correct Option - 3
Solution:
√x = √361.05 - 299.92 ÷ 14.98 + 162.01 ÷ 17.97
√x = √361 - 300 ÷ 15 + 162 ÷ 18
√x = 19 - 20 + 9
√x = 8
x = 64

491.
522.
643.
724.
365.

Que. 33 Find the approximate value of x in the following question given below
x = 39.97% of 44.95 – 33.33% of 45.02 + √48.87



Correct Option - 4
Solution:
x = 39.97% of 44.95 – 33.33% of 45.02 + √48.87
x = 40% of 45 – 33.33% of 45 + √49
x = 18 - 15 + 7
x = 10

81.
122.
153.
104.
115.

Que. 34 Find the approximate value of x in the following question given below

16.982 + 6.993 - 447.98 ÷ 8.02 = x2

Correct Option - 4
Solution:

16.982 + 6.993 - 447.98 ÷ 8.02 = x2

172 + 73 - 448 ÷ 8 = x2

289 + 343 - 56 = x2

x2 = 576
x = 24

341.
362.
283.
244.
325.

Que. 35 Find the approximate value of x in the following question given below

(35.97 ×  12.01 ÷ 15.99 + √81.18)2 = x + 25.982

Correct Option - 2
Solution:

(35.97 ×  12.01 ÷ 15.99 + √81.18)2 = x + 25.982

(36 ×  12 ÷ 16 + √81)2 = x + 262

5201.
6202.
6253.
6704.
6405.



(27 + 9)2 = x + 676
1296 = x + 676
x = 620

Que. 36 Find the approximate value of x in the following question given below
40.05% of 420.21 +x = √361.12 × 11.01

Correct Option - 3
Solution:
40.05% of 420.21 + x = √361.12 × 11.01
40/100 of 420 + x = √361 ×  11
168 + x = 19 ×  11
168 + x = 209
x = 209 – 168
x = 41

371.
392.
413.
434.
455.

Que. 37 Find the approximate value of x in the following question given below
34.97% of 279.88 + √63.97 of 25.12% = x – 13.27

Correct Option - 3
Solution:
34.97% of 279.88 + √63.97 of 25.12% = x – 13.27
35% of 280 + √64 of 25% = x – 13
35/100 of 280 + 8 of 25/100 = x -13
98 + 2 = x -13
100 = x -13
100 + 13 = x
113 = x

1301.
1452.
1133.
1104.
1245.

Que. 38 Find the approximate value of x in the following question given below
12.89  ÷ 13.3 + 12.2  ÷ 143.9 + (16.97  − 14.98 ) ÷ 2 = x3 3 3 3



Correct Option - 3
Solution:

12.893 ÷ 13.3 + 12.23 ÷ 143.9 + (16.973 − 14.983)÷ 2 = x

133 ÷ 13 + 123 ÷ 144 + (173 − 153) ÷ 2 = x
169 + 12 + (4913 – 3375)/2 = x
169 + 12 + 1538/2 = x
169 + 12 + 1538/2 = x
x = 950

8251.
7502.
9503.
8504.
7755.

Que. 39 Find the approximate value of x in the following question given below

2308.96 + x – 355.96 + 28.972 = 343.95

Correct Option - 3
2308.96 + x – 355.96 + 28.972 = 343.95
2309 + x – 356 + 841 = 344
2309 + 841 – 356 + x = 344
3150 – 356 + x = 344
2794 + x = 344
x = − 2450

-27501.
- 26502.
-24503.
- 23504.
- 22505.

Que. 40 Find the approximate value of x in the following question given below

18.362 ÷ 3.99 + 12240.12 ÷ 11.562 − 8.36 ×  3.572 = x – 8.662

Correct Option - 3
Solution:
18.36  ÷ 3.99 + 12240.12 ÷ 11.56  − 8.36 ×  3.57 = x – 8.66

1101.
1132.
1193.
1174.
1115.

2 2 2 2



182 ÷ 4 + 12240 ÷ 122 − 8 ×  42 = x − 92

81 + 85 – 128 = x − 81
81 + 85 – 128 + 81 = x
x = 119

Que. 41 Find the approximate value of x in the following question given below
2141.82 ÷ 51.23 ×  10.55 – 4.43 ×  1343.75 ÷ 6.6 = x – 430.95

Correct Option - 3
Solution:
2141.82 ÷ 51.23 ×  10.55 – 4.43 ×  1343.75 ÷ 6.6 = x – 430.95
2142 ÷ 51 ×  11 – 4 ×  1344 ÷ 7 = x − 431
42 ×  11 – 4 ×  192 = x – 431
462 – 768 = x – 431
x = 125

1151.
1452.
1253.
1354.
1555.

Que. 42 Find the approximate value of x in the following question given below
(4667.90 + 3678.89 + 4738.78 – 3489.88 – 7634.89) = x

Correct Option - 4
Solution:
(4667.90 + 3678.89 + 4738.78 – 3489.88 – 7634.89) = x
(4668 + 3679 + 4739 – 3490 – 7635) = x
(13086 – 11125) = x
x = 1961

15371.
17442.
24213.
19614.
16455.

Que. 43 Find the approximate value of x in the following question given below

[(4.67 ×  6.89) + (25.03 ×  1/ 4.97) + (29.98 ×  1/5.97) + 4.672 + x] = 200

1101.
1252.



Correct Option - 4
Solution:
[(4.67 ×  6.89) + (25.03 ×  1/ 4.97) + (29.98 ×  1/5.97) + 4.67² + x] = 200
[(5 ×  7) + (25 ×  1/5) + (30 ×  1/6) + 5² + x)] = 200
(35 + 5 + 5 + 25 + x) = 200
(70 + x) = 200
x = 200 – 70 = 130

1203.
1304.
1155.

Que. 44 Find the approximate value of x in the following question given below
3/11 ×  142.72 + 8/13 ×  325.22 – 4/7 ×  118.85 = x

Correct Option - 3
Solution:
3/11 ×  142.72 + 8/13 ×  325.22 – 4/7 ×  118.85 = x
3/11 ×  143 + 8/13 ×  325 – 4/7 ×  119 = x
39 + 200 – 68 = x
x = 171 

1241.
1322.
1713.
1624.
1445.

Que. 45 Find the value of x.
√1521 + √1089 – x = √4096 + √1024

Correct Option - 4
Solution:

√1521 + √1089 – x = 3√4096 + √1024
39 + 33 – x = 16 + 32
72 – x = 48
x = 24

3

321.
282.
303.
244.
265.



Que. 46 Find the approximate value of x in the following question given below
44.85% of 179.8 + x% of 149.9 = 59.79% of 309.91 + 59.9% of 99.99

Correct Option - 3
Solution:
44.85% of 179.8 + x% of 149.9 = 59.79% of 309.91 + 59.9% of 99.99
45% of 180 + x% of 150 = 60% of 310 + 60%× 100
9 × 9 + 1.5x = 186 + 60
81 + 1.5x = 246
1.5x = 165
x = 110

1401.
1202.
1103.
1124.
1155.

Que. 47 Find the approximate value of x in the following question given below
[(194.94) ×  2 ÷ 17.86 ×  35.94] ÷ x = 39.96 ×  19.84 - 9.87 ×  2

Correct Option - 4
Solution:
[(194.94) ×  2 ÷ 17.86 ×  35.94] ÷ x = 39.96 ×  19.84 - 9.87 ×  2
[195 ×  2 ÷ 18 ×  36] ÷ x = 40 ×  20 - 10 ×  2
780/x = 800–20
780/x = 780
x = 1

51.
22.
33.
14.
45.

Que. 48 Find the approximate value of x in the following question given below

67.89 + 11.012 - 77.18 + 40.05% of 399.95 – 65.769 = x

2191.
2182.
2063.
2124.
285.



Correct Option - 3
Solution:

67.89 + 11.012 - 77.18 + 40.05% of 399.95 – 65.769 = x

68 + 112 - 77 + 40/100 ×  400 – 66 = x
68 + 121 – 77 + 160 – 66 = x
x = 206

Que. 49 Find the approximate value of x in the following question given below
11.11 ×  7.924 + 18.962 ×  6.019 – 49.69% of 7.791  = x + 3.89 ×  √24.912

Correct Option - 3
Solution:
11.11 ×  7.924 + 18.962 ×  6.019 – 49.69% of 7.791  = x + 3.89 ×  √24.912

11 ×  8 + 19 ×  6 – 50/100 ×  82 = x + 4 ×  √25
88 + 114 – 1/2 ×  64 = x + 4 ×  5
202 – 32 = x + 20
x = 150
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1101.
1302.
1503.
1404.
1205.

2

Que. 50 What will come in place of the question mark(?) in the following equation?

72 × 23 ÷ 42 + ?2 = 50

Correct Option - 1
Concept Used:
Apply exponent rules and BODMAS for solving the expression.
Calculation:
7 × 2  ÷ 4  + ?  = 50
49 × 8 ÷ 16 + ?  = 50
24.5 + ?  = 50
?  = 50 - 24.5
?  = 25.5
∴ ? = √25.5 ≈ 5.05

5.051.
6.752.
4.853.
3.254.
5.755.
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